
BCM SCHOOL, BASANT AVENUE, DUGRI ROAD, LUDHIANA 
CLASS-IV     MATHEMATICS    

REVISION ASSIGNMENT, JULY, 2025 
                     (ANSWER KEY) 

1. c) number itself 

2. c)not possible 

3. a)(QXD)+R=DIV 

4. b)same 

5. b)124000 

6. a)0 

7. 280÷9=31 students (show calculation) 

8. 1 student was left (remainder) 

9. 280÷10=28 (use property) 

10. 4563 ÷ 28  (Q=162 , R=27) 

Verify using rule: (QxD)+R=DIV 

11. a)2841 x 39 = 110799 (show calculation) 

b)625 x 237 = 148125 (show calculation) 

     12. cost of 1 wrist watch=₹349 

            Cost of 42 wrist watches= ₹349 x 42 

                                                          = ₹14658 (show calculation) 

         So, cost of 42 wrist watches is ₹14658. 


